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Activities

11. (&) Outine the meaning of the following terms in Economics.
@ Equiibrium price and quantiy.

® Shortage
@) Supius

12. Show the change on the model which wil result fom these scenarios. Indiude the original and new.
equibrium posiions and use aows along Your axes o help identiy what will happen to price and quantiy.

@ Oranges
s
2
8
>
e
Oranges found foprotectagaint heart disease
The price il Quanity vl
o Granges
s
z
H
>
S
Insect infested oranges found troughout supermaries
The price il Quanity vl
@ Oranges
s
z
H
>
S

The price of mandarins (an orange substitute), haes

The price wil Quantity wil
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13. Refer o the Breklybix graph above to answer these questions.
(a) Wnat s the original equibrium price and quantiy at point A?

(b) From point A, how many extra packets of Brekiybix are fims now willng to Supply s a resut of
the increase in supply?

(©) Wnat s the quanity demanded at point A?
(@) Does a surphs or a shortage exist afterthe increase in supply? And of how much?
@) How wil the merket respond to this position? Wil the price ise of fal?

() Wnat s the new equilbrium price and quaniity?

(@ Review the factors afecting supply. Suggest one factor, other than the one mentioned above,
that could increase the supply of Brekdybix.
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14. @) Wha s the orginal equibrium price and quanty at pont A2
©) AS output as due o the rough, what  the supply now at that oiginal equibrium price?
@) And what s demand after the wage rises at tha orignal equibrium price?
@ Has a surplus o shorlage been created?
@) What wil b the response ofpricetothe stuation you outined above?
) s he i ises, il demand expand or conlract? By how much?
@ Wnat s thenew equibriam prios and quanity?
15. Bra, he word's mejor coflee procuce, amnouncos thl coflee bean output s expeced o fall by

20% this year due to prolonged flooding. Show the fikely impact on the curve.

Goffee.
s

Price(h

Quantiy.

“The price wil Quantity wil
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16. (@) Show the effect of the follows scenarios on the demand and supply model
“The first one is provided to assist you
Donim joans

@ a
Quartiy

"Denim jeans go out of fashion

As fashions change, consumer demand changes. I this scenario buyers are therefore less liely
to want denim jeans. Demand wil dectease, as shown.

‘You might ask the question: ‘But won't supplers cut supply 1007 You can see from the graph
that, as the price fals to the new equilbrium position with the decrease in demand, supply is
already contracting. There is no change {0 the supply curve.

“The overall mpact seen on the graph above is that both the price and quanty wil al

(b) Pepsi runs a highy successful adveriising campaign. Show the impact of this situation on the
‘graph for Coca Cola.

Coca Cola

Piicoth)

Quantiy.
“The price will Quantity will
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(©) The price of leather fals. Show the impact on a graph for shoes.

shoos
s
2
8
>
=
“The price wil Quanity wil
@ Gonsumers fear lockdowns of supermarkets during GOVID-19 pandemic
Totet papor
s
2
8
>
=
“The price il Quanity wil
@) Tochnalogical advances develop commercia fighs o the moon. Show the mpac on a graph or
moon fights.
Moon ights
s
z
H
>
=
The price il Quanity wil
(0" The govermment abandons the tarf (12 on imported cars. Show the impact on a graph for
localy manactred cars
e e e
:
B
oy
“The price wil

Quantity wil
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(@ The price of oranges increases. Show the impact on a graph for oranges.

]

i

“The price wil

(h) Rumours spread that Telstra s
for Telsira shares.

Orangs

Quantty

Quantity wil
‘about 1o announce a record proiit. Show the impact on a graph

Toistra

“The price wil

17. (@) In relation to the relaxation of
changes on this model,

[

i

Quantsy

Quantity wil
‘cannabs laws in Colorado, show the apparent impact of the

Gannabi

“The price wil

Quantty
Quantity wil

) What has happened to supply, based on what you showed on the graph in 17(a)? Explai your

opinion.
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Market failure
While demand and supply interact freely o create an equibrium price and quantiy, there are some problems.
which may emerge ffom his process which create S0G, economic or envionmental Costs.

Inequitable income distribution

You wil see in the following chaper that one of the government's goals is to have an equitable dstribution of
income. But this may not ocour if demand and supply i et to determine the price of labour — the wage o saary.
Skils are valued differenly in our sociely. Some movie or sports stars may eam milfons of dolars for one movie or
event, whike others in society who work in an unskdled capacit, or are unable to work at all, may not accumuiate
one milion dollars in a ifetime.

Inadequate provision of collective wants

Firms respond to consumer demand f a profit can be made. Providing telecommunication coverage i anisolated
country area s not kel to be profitable, and nether i a daily postal service. You may have experienced a cutback
in bus or train senvices at night because of lack of patrons. Thus there are many Services we expect in our high-
income society that are not kel o be provided uniess the government fulis these wants.

Externalities

W have referred earier to extemal costs and beneiis of production (eflects on groups other than the decision-
maker). With proft being a major motivator of frms, it is possible that harmful effects may be fel from actions.
taken which have o financial cost 1o the producer Think, for instance, of s of species and habitats, urban
crowding, increased water salinty, and cimate change.

Abuse of market power

s firms grow, they may seek to take over competitors to inoreas the size of her markets and increase proiitabilty
further If a situation exists where there is e competition, and no close subsiitutes, the fims may be able 10
exercise their power by raising their prices. This lack of compeition creates what is known as a concentrated
market. Consumers then willlose, and their standard of ving may fall. It s legal, for instance, for s 10 work
together 1o divide up a market or 1o decide between themsalves to raise prices This is known as collusion. In
Austraia the Competition and Consumer Commission administers the Competition and Consumer Act, which
prohibits abuse of market power.

Economic instability

‘Whie demand and supply, the price mechanism, allows the movement of prices to the equilbrium positon, this
may not be the best positon for the economy.

For instance, if economic growth s very slow, stocks wil build up as consumer spending (demand) slows. Firms.
will respond by recucing production and maybe puting offlabour. So the demand for purchasing falls, and fims.
respond by decreasing their supply il a new equiborium positon is reached.

Amajor govemment goal is sustainabie economic growth, 50 whilsthe demand and supply may be in equilbrium,
the economy could be functioning at a very low level of activty, with many job losses too. This i not  position
that earms the government any popuiarity. What can be done to deal with such a situation is discussed in the next
chapter.

Consumer exploitation

In the hunt for prois, some firns may take shoricuis, hide deficiencies, provide poor-qualty goods or Sevices,
or take advantage of consumers in some other way. Of course most fims abide by the law, but some will not
‘Consumer Afiairs departments exist n each Austraian state to protect consumers' ights.
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1. (@) Outine the meaning of the following terms in Economics:
0 Amariet

@ Demand
(b) How do consumers respond as prices rise?

(©) Jot down four tems that have become increasingly demanded over the last few years because
oftechnological change.

(@ Consiruct a demand curve from the following schedue. Be sure to use a ruer, and choose a
‘scale that maximises the use of the space provided.

‘Demand schedt for ice cream

Price (5) Quantity (000)

320 &8
240 2
160 16

080 20

(e) Consider the impact of the COVID-19 pandemic on total (agaregate) levels of demand in the
‘country. Suggest four major factors which caused levels of demand to fal
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2. Outine the meaning of the folowing terms in Econormics:
(a) contraction in demand

) expansion in demand

3. Complete the following sentences.

“The higher the price the. Wil be the quantity demanded.
Demand means being wiling and to make a purchase of goods or services.
‘A general ise in incomes would probably lead to /an n demand.
R T T L R i price of the item being
Afiss in price of the tem being plotted brings about a in demand. (Hint: ‘Decrease’
is not the missing word )
Ifthe price of amb halves, there wil possibly be a/an in demand for bee.

4. fa) Plot the information from this table onto a graph. Don'tforget to use equal intervais for the poinis.

along your axes.

Price of milk per carton (§) | Quantity demanded (cartons)

050 180
100 140
150 100

200 60

() Read from your graph and answer:
How many cartons are demanded at a price of $1.757

For a producer to sell 80 cartons of mik, what would the price need 1o be?
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(©) Aresearch fining is published, showing that milk s inked with various diseases.
‘Consumers respond o this news by decreasing their consumtion of milk. Their level of demand

now becomes:
Price of milk per carton (§) | Quantity demanded (cartons)

025 120

075 £l

125 0

150 20

Plot this new information back onto the graph you constucted n part 2. Label t D,

@ ALD, how many cartons of mik were demanded al a price of $1.25? (Don' forget o e rom
$1.25 across to your D, e and rule down to the horizontal axis 1o read from your graph most
accurately & don't rely on just looking - mistakes happen)

A D, how many cartons of mik were demanded at the same price?
“To sell 60 cartons of mik, what would the price need o be at D,
(e) Suggest three factors which couid cause an increase in demand for milk
5. Show the effect of the folowing situations on the demand curve. (Don't forget 1o abel the new curves.)

(a) The goverment rases income tax
Goods and services

Pice

Sy

(b) The price of pizza doubles.
Hamburgors

Pice

Ty
(6)Huge o and gas discoveries slash the price of petrol

Large cars

Prioe

Quariy
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6. List three ftems showing a change in demand because of changing fashion. (Don't just say ‘clothes’,
for example, but think about which clothes, and which styles, are changing in demand. Of course, it
s not only clothes which are aflected by fashion)

SugaestHems wich arebecorming more popua:
SuggestHems wich are becorming ess popur:

7. Suggest three complementary goods or sevices.
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8 (@) Plot the folowing information onto a graph.

‘Supply of petrol per week

Price ($)

‘Quantity supplied (000 ltres)

120
1.10

&75
825

1.00

750

090

675

080

600

070
060

500
400

Remember that price is aways plotied on the vertical axis, and quantity on the horizontal axis.

Label the curve that you draw S, (5, 510 olow)

b) Now piot another supply curve on this raph to show the new supply position for petrolfthe cost
of crude o falls and producers can provide another 100 lires at each price evel. Label this curve

s,

(©) Explain what has happened as a resut of the decrease in the cost of crude ol

(@ Consumers experience a shortage of bread in the shops. Give three suggestions as to what

Could cause a decrease in the Supply of brea.
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9. Answer the folowing muliple choice questions.

@

©

1fthe supply of bread is being plotted on a graph and there is an increase in the price of bread,
the stuation could resut in:

J anincrease in supply

K an expansion of supply

L adecrease in supply

M acontraction of supply.

An increase in the supply of 3D TV sets couid be brought about by:
J anincrease inthe cost of raw malerials

K anincrease n the cost of imported components.

L anincrease in tekecommunication technology

M an increase in government taxes.

0. Consider the graph below and answer the questions which folow.

©

©

Bicyclo helmots

Piicotl)
28

888

0 16 2 2 % 2
Quantty

How many bicycle helmets would be suppled if the price was $207 Show this combination on
your graph.

How many helmets woud be supplied if the price rose to $307

What i the expression used to denote the efiect of an increase i pice of bicycle heimels?

‘Suggest a factor which could increase the supply of bicycle heimets.




